ON CERTAIN SUBCLASSES OF MEROMORPHIC UNIVALENT FUNCTIONS

BY

KHALIDA INAYAT NOOR AND ALI MUHAMMAD

Abstract

In this paper, we introduce new classes, $MB_k(\alpha, \lambda, q, s, \rho)$ and $MT_k(\alpha, \lambda, q, s, \rho)$ of meromorphic functions defined by using a meromorphic analougue of the Choi-Saigo-Srivastava operator for the generalized hypergeometric function and investigate a number of inclusion relationships of these classes. We also derive some interesting properties of these classes, which also includes radius problem for the class $MB_k(\alpha, \lambda, q, s, \rho)$.

1. Introduction

Let M denote the class of functions of the form

$$f(z) = \frac{1}{z} + \sum_{k=0}^{\infty} a_k z^k,$$

which are analytic in the punctured unit disk

$$E^* = \{z : z \in \mathbb{C} \text{ and } 0 < |z| < 1\} = E \setminus \{0\}.$$

Let $P_k(\rho)$ be the class of functions p(z) analytic in E satisfying the properties p(0) = 1 and

$$\int_0^{2\pi} \left| \frac{\operatorname{Re} p(z) - \rho}{1 - \rho} \right| d\theta \le k\pi, \tag{1.1}$$

Received December 02, 2008 and in revised form February 03, 2009.

AMS Subject Classification: 30C45, 30C50.

Key words and phrases: Meromorphic functions, generalized hypergeometric functions, functions with positive real part, integral operator.

where $z = re^{i\theta}$, $k \ge 2$ and $0 \le \rho < 1$. This class has been introduced in [16]. We note that $P_k(0) = P_k$, see [15], $P_2(\rho) = P(\rho)$, the class of analytic functions with positive real part greater than ρ and $P_2(0) = P$, the class of functions with positive real part. From (1.1) we can write $p \in P_k(\rho)$ as

$$p(z) = \left(\frac{k}{4} + \frac{1}{2}\right)p_1(z) - \left(\frac{k}{4} - \frac{1}{2}\right)p_2(z),\tag{1.2}$$

where $p_i(z) \in P(\rho)$, i = 1, 2 and $z \in E$.

For complex parameters

$$\alpha_1, \ldots, \alpha_q$$
 and β_1, \ldots, β_s $(\beta_j \in \mathbb{C} \setminus \mathbb{Z}_0^- := \{0, -1, -2, \ldots\}; j = 1, \ldots, s),$

we now define the generalized hypergeometric function ${}_{q}F_{s}(\alpha_{1},\ldots,\alpha_{q};\beta_{1},\ldots,\beta_{q};z)$ [13, 18] as follows:

$${}_{q}F_{s}(\alpha_{1},\ldots,\alpha_{q};\beta_{1},\ldots,\beta_{q};z) := \sum_{k=0}^{\infty} \frac{(\alpha_{1})_{k}\cdots(\alpha_{q})_{k}z^{k}}{(\beta_{1})_{k}\cdots(\beta_{q})_{k}k!},$$

$$(q \leq s+1;q,s \in \mathbb{N}_{0} := \mathbb{N} \cup \{0\}; \mathbb{N} := \{1,2,\ldots\}; z \in E),$$

where $(v)_k$ is the Pochhammer symbol (or the shifted factorial) defined in (terms of the Gamma function) by

$$(v)_k := \frac{\Gamma(v+\kappa)}{\Gamma(v)} = \begin{cases} 1 & \text{if } k = 0 \text{ and } v \in \mathbb{C} \setminus \{0\}, \\ v(v+1) \cdots (v+\kappa-1) & \text{if } k \in \mathbb{N} \text{ and } v \in \mathbb{C}. \end{cases}$$

Corresponding to a function $\mathscr{F}(\alpha_1,\ldots,\alpha_q;\beta_1,\ldots,\beta_s;z)$ defined by

$$\mathscr{F}(\alpha_1, \dots, \alpha_q; \beta_1, \dots, \beta_s; z) = z^{-1} {}_{q} \mathscr{F}_s(\alpha_1, \dots, \alpha_q; \beta_1, \dots, \beta_s; z)$$
 (1.3)

Liu and Srivastava [8] considered a linear operator $H(\alpha_1, \ldots, \alpha_q; \beta_1, \ldots, \beta_s)$: $M \to M$ defined by the following Hadamard product (or convolution):

$$H(\alpha_1, \dots, \alpha_q; \beta_1, \dots, \beta_s) f(z) = \mathscr{F}(\alpha_1, \dots, \alpha_q; \beta_1, \dots, \beta_s; z) * f(z).$$
 (1.4)

We note that the linear operator $H(\alpha_1, \ldots, \alpha_q; \beta_1, \ldots, \beta_s)$ was motivated essentially by Dziok and Srivastava [2]. Some interesting developments with the generalized hypergeometric function were considered recently by Dzoik and Srivastava [3, 4] and Liu and Srivastava [6, 7].

Corresponding to the function $\mathscr{F}(\alpha_1,\ldots,\alpha_q;\beta_1,\ldots,\beta_s;z)$ defined by (1.3), we introduce a function $\mathscr{F}_{\lambda}(\alpha_1,\ldots,\alpha_q;\beta_1,\ldots,\beta_s;z)$ given by

$$\mathscr{F}(\alpha_1, \dots, \alpha_q; \beta_1, \dots, \beta_s; z) * \mathscr{F}_{\lambda}(\alpha_1, \dots, \alpha_q; \beta_1, \dots, \beta_s; z)$$

$$= \frac{1}{z(1-z)^{\lambda}} \quad (\lambda > 0). \tag{1.5}$$

Analogous to $H(\alpha_1, \ldots, \alpha_q; \beta_1, \ldots, \beta_s)$ defined by (1.4), we now define the linear operator $H_{\lambda}(\alpha_1, \ldots, \alpha_q; \beta_1, \ldots, \beta_s)$ on M as follows:

$$H_{\lambda}(\alpha_{1},\ldots,\alpha_{q};\beta_{1},\ldots,\beta_{s})f(z) = \mathscr{F}_{\lambda}(\alpha_{1},\ldots,\alpha_{q};\beta_{1},\ldots,\beta_{s};z) * f(z)$$

$$(\alpha_{i},\beta_{j} \in \mathbb{C} \setminus \mathbb{Z}_{0}^{-}; \ i=1,\ldots,q; \ j=1,\ldots,s; \ \lambda > 0; z \in E^{*}; \ f \in M).$$

$$(1.6)$$

For convenience, we write

$$H_{\lambda,q,s}(\alpha_1) := H_{\lambda}(\alpha_1,\ldots,\alpha_q;\beta_1,\ldots,\beta_s).$$

It is easily verified from the definition (1.5) and (1.6) that

$$z(H_{\lambda,q,s}(\alpha_1+1)f(z))' = \alpha_1 H_{\lambda,q,s}(\alpha_1)f(z) - (\alpha_1+1)H_{\lambda,q,s}(\alpha_1+1)f(z), (1.7)$$
 and

$$z(H_{\lambda,q,s}(\alpha_1)f(z))' = \lambda H_{\lambda+1,q,s}(\alpha_1)f(z) - (\lambda+1)H_{\lambda,q,s}(\alpha_1)f(z).$$
 (1.8)

We note that the operator $H_{\lambda,q,s}(\alpha_1)$ is closely related to the Choi-Saigo-Srivastava operator [1] for analytic functions, which includes the integral operator studied by Liu [5] and Noor et al. [10, 11].

Next by using the operator $H_{\lambda,q,s}(\alpha_1)$, we introduce some new classes of meromorphic functions.

Definition 1.1. Let $f \in M$. Then $f \in MB_k(\alpha, \lambda, q, s, \rho)$, if and only if

$$-(1-\alpha)z^{2}(H_{\lambda,q,s}(\alpha_{1})f(z))' - \alpha z^{2}(H_{\lambda+1,q,s}(\alpha_{1})f(z))' \in P_{k}(\rho), \quad z \in E,$$

where $\alpha > 0$, $k \ge 2$ and $0 \le \rho < 1$.

Definition 1.2. Let $f \in M$. Then $f \in MT_k(\alpha, \lambda, q, s, \rho)$, if and only if

$$(1-\alpha)z(H_{\lambda,a,s}(\alpha_1)f(z)) + \alpha z(H_{\lambda+1,a,s}(\alpha_1)f(z)) \in P_k(\rho), \quad z \in E,$$

where $\alpha > 0$, $k \ge 2$ and $0 \le \rho < 1$.

2. Preliminary Results

Lemma 2.1.([17]). If p(z) is analytic in E with p(0) = 1, and if λ_1 is a complex number satisfying $Re(\lambda_1) \geq 0$ ($\lambda_1 \neq 0$), then

$$\operatorname{Re}\{p(z) + \lambda_1 z p'(z)\} > \beta \quad (0 \le \beta < 1).$$

Implies

Re
$$p(z) > \beta + (1 - \beta)(2\gamma - 1)$$
,

where γ is given by

$$\gamma = \gamma(\operatorname{Re}\lambda_1) = \int_0^1 (1 + t^{\operatorname{Re}\lambda_1})^{-1} dt,$$

which is an increasing function of $Re(\lambda_1)$ and $\frac{1}{2} \leq \gamma < 1$. The estimate is sharp in the sense that the bound cannot be improved.

Lemma 2.2. ([19]). If p(z) is analytic in E, p(0) = 1 and $\operatorname{Re} p(z) > \frac{1}{2}$, $z \in E$, then for any function F analytic in E, the function p * F takes values in the convex hull of the image of E under F.

Lemma 2.3. (cf., e.g., Pashkouleva [14]). Let $p(z) = 1 + b_1 z + b_2 z^2 + \cdots \in P(\rho)$. Then

Re
$$p(z) \ge 2\rho - 1 + \frac{2(1-\rho)}{1+|z|}$$
.

3. Main Results

Theorem 3.1. Let $f \in MB_k(\alpha, \lambda, q, s, \rho)$. Then

$$-z^2(H_{\lambda,q,s}(\alpha_1 f(z))' \in P_k(\rho_1),$$

where ρ_1 is given by

$$\rho_1 = \rho + (1 - \rho)(2\gamma - 1), \tag{3.1}$$

and

$$\gamma = \int_0^1 \left(1 + t^{\operatorname{Re}\left(\frac{\alpha}{\lambda}\right)} \right)^{-1} dt.$$

Proof. Let

$$-z^{2}(H_{\lambda,q,s}(\alpha_{1})f(z))' = p(z) = \left(\frac{k}{4} + \frac{1}{2}\right)p_{1}(z) - \left(\frac{k}{4} - \frac{1}{2}\right)p_{2}(z).$$
 (3.2)

Then p(z) is analytic in E with p(0) = 1. Applying the identity (1.8) in (3.2) and differentiating the resulting equation with respect to z, we have

$$-(1-\alpha)z^2(H_{\lambda,q,s}(\alpha_1)f(z))' - \alpha z^2(H_{\lambda+1,q,s}(\alpha_1)f(z))' = \left\{p(z) + \frac{\alpha}{\lambda}zp'(z)\right\}.$$

Since $f \in MB_k(\alpha, \lambda, q, s, \rho)$, so $\left\{p(z) + \frac{\alpha}{\lambda} z p'(z)\right\} \in P_k(\rho)$ for $z \in E$. This implies that

$$\operatorname{Re}\left\{p_i(z) + \frac{\alpha}{\lambda} z p_i'(z)\right\} > \rho, \quad i = 1, 2.$$

Using Lemma 2.1, we see that $\operatorname{Re}\{p_i(z)\} > \rho_1$, where ρ_1 is given by (3.1). Consequently $p \in P_k(\rho_1)$ for $z \in E$, and the proof is complete.

Theorem 3.2. Let $f \in MB_k(0, \lambda, q, s, \rho)$ for $z \in E$. Then $f \in MB_k(\alpha, \lambda, q, s, \rho)$ for $|z| < R(\alpha, \lambda)$, where

$$R(\alpha, \lambda) = \frac{\lambda}{\alpha + \sqrt{a^2 + \lambda^2}}.$$
 (3.3)

Proof. Set

$$-z^{2}(H_{\lambda,q,s}(\alpha_{1})f(z))' = (1-\rho)h(z) + \rho, \quad h \in P_{k}.$$

Now proceeding as in Theorem 3.1, we have

$$-(1-\alpha)z^{2}(H_{\lambda,q,s}(\alpha_{1})f(z))' - \alpha z^{2}(H_{\lambda+1,q,s}(\alpha_{1})f(z))' - \rho$$

$$= (1-\rho)\left\{h(z) + \frac{\alpha}{\lambda}zh'(z)\right\}$$

$$= (1-\rho)\left[\left(\frac{k}{4} + \frac{1}{2}\right)\left\{h_{1}(z) + \frac{\alpha}{\lambda}zh'_{1}(z)\right\} - \left(\frac{k}{4} - \frac{1}{2}\right)\left\{h_{2}(z) + \frac{\alpha}{\lambda}zh'_{2}(z)\right\}\right], (3.4)$$

where we have used (1.2) and $h_1, h_2 \in P$, $z \in E$. Using the following well known estimate [9]

$$|zh'_i(z)| \le \frac{2r}{1-r^2} \operatorname{Re}\{h_i(z)\}, \quad (|z|=r<1), \quad i=1,2,$$

we have

$$\operatorname{Re}\left\{h_{i}(z) + \frac{\alpha}{\lambda}zh'_{i}(z)\right\} \geq \operatorname{Re}\left\{h_{i}(z) - \frac{\alpha}{\lambda}|zh'_{i}(z)|\right\}$$
$$\geq \operatorname{Re}h_{i}(z)\left\{1 - \frac{2\alpha r}{\lambda(1 - r^{2})}\right\}.$$

The right hand side of this inequality is positive if $r < R(\alpha, \lambda)$, where $R(\alpha, \lambda)$ is given by (3.3). Consequently it follows from (3.4) that $f \in MB_k(\alpha, \lambda, q, s, \rho)$ for $|z| < R(\alpha, \lambda)$. Sharpness of this result follows by taking $h_i(z) = \frac{1+z}{1-z}$ in (3.4), i=1,2.

Theorem 3.3. Let $f \in MB_k(0, \lambda, q, s, \rho)$ and let

$$\mathcal{F}_{\delta}(f)(z) = \frac{\delta}{z^{\delta+1}} \int_{0}^{z} t^{\delta} f(t) dt \quad (\delta > 0, \ z \in E^{*}).$$
 (3.5)

Then

$$-z^2(H_{\lambda,q,s}(\alpha_1)\mathcal{F}(f)(z))' \in P_k(\rho_2),$$

where ρ_2 is given by

$$\rho_2 = \rho + (1 - \rho)(2\gamma_1 - 1), \tag{3.6}$$

and

$$\gamma_1 = \int_0^1 \left(1 + t^{\operatorname{Re}\left(\frac{1}{\delta}\right)} \right)^{-1} dt.$$

Proof. Setting

$$-z^{2}(H_{\lambda,q,s}(\alpha_{1})\mathcal{F}(f)(z))' = p(z) = \left(\frac{k}{4} + \frac{1}{2}\right)p_{1}(z) - \left(\frac{k}{4} - \frac{1}{2}\right)p_{2}(z). \quad (3.7)$$

Then p(z) is analytic in E with p(0) = 1. Using the following operator

identity:

$$z(H_{\lambda,q,s}(\alpha_1)\mathcal{F}(f)(z))' = \delta(H_{\lambda,q,s}(\alpha_1)f(z)) - (\delta+1)(H_{\lambda,q,s}(\alpha_1)\mathcal{F}(f)(z))$$
(3.8)

in (3.7), and differentiating the resulting equation with respect to z, we find that

$$-z^{2}(H_{\lambda,q,s}(\alpha_{1})f(z))' = \left\{p(z) + \frac{1}{\delta}zp'(z)\right\} \in P_{k}(\rho) \text{ for } z \in E.$$

Using Lemma 2.1, we see that $-z^2(H_{\lambda,q,s}(\alpha_1)\mathcal{F}(f)(z))' \in P_k(\rho_2)$, for $z \in E$, where ρ_2 is given by (3.6), and the proof is complete.

Theorem 3.4. Let $\varphi(z) \in M$ satisfy the inequality:

$$\operatorname{Re}(z\varphi(z)) > \frac{1}{2} \quad (z \in E).$$
 (3.9)

Let $f \in MT_k(\alpha, \lambda, q, s, \rho)$. Then $\varphi * f \in MT_k(\alpha, \lambda, q, s, \rho)$.

Proof. Let $G = \varphi * f$. Then

$$(1 - \alpha)z(H_{\lambda,q,s}(\alpha_1)G(z)) + \alpha z(H_{\lambda+1,q,s}(\alpha_1)G(z))$$

$$= (1 - \alpha)z(H_{\lambda,q,s}(\alpha_1)(\varphi * f)(z)) + \alpha z(H_{\lambda+1,q,s}(\alpha_1)(\varphi * f)(z))$$

$$= z\varphi(z) * h(z), \qquad h \in P_k(\rho).$$

$$= \left(\frac{k}{4} + \frac{1}{2}\right) \left\{ (1 - \rho)(z\varphi(z) * h_1(z)) + \rho \right\}$$

$$-\left(\frac{k}{4} - \frac{1}{2}\right) \left\{ (1 - \rho)(z\varphi(z) * h_2(z)) + \rho \right\}, \quad h_1, h_2 \in P.$$

Since $\operatorname{Re}(z\varphi(z)) > \frac{1}{2}$, $(z \in E)$, and so using Lemma 2.2, we can conclude that $G = \varphi * f \in MT_k(\alpha, \lambda, q, s, \rho)$.

Theorem 3.5. Let $\varphi(z) \in M$ satisfy the inequality (3.9), and $f \in MB_k(0, \lambda, q, s, \rho)$. Then $\varphi * f \in MB_k(0, \lambda, q, s, \rho)$.

Proof. We have

$$-z^2(H_{\lambda,q,s}(\alpha_1(\varphi*f)(z))' = -z^2(H_{\lambda,q,s}(\alpha_1)f(z))'*z\varphi(z) \quad (z \in E).$$

Now the remaining part of Theorem 3.5 follows by employing the techniques that we used in proving Theorem 3.4 above. \Box

Theorem 3.6. For $0 \le \alpha_2 < \alpha_1$, $MT_k(\alpha_1, \lambda, q, s, \rho) \subset MT_k(\alpha_2, \lambda, q, s, \rho)$.

Proof. For $\alpha_2 = 0$, the proof is immediate. Let $\alpha_2 > 0$ and let $f \in MT_k(\alpha_1, \lambda, q, s, \rho)$. Then

$$(1 - \alpha_2)z(H_{\lambda,q,s}(\alpha_1)f(z)) + \alpha_2 z(H_{\lambda+1,q,s}(\alpha_1)f(z))$$

$$= \frac{\alpha_2}{\alpha_1} \left[\left(\frac{\alpha_1}{\alpha_2} - 1 \right) z(H_{\lambda,q,s}(\alpha_1)f(z)) + (1 - \alpha_1)(H_{\lambda,q,s}(\alpha_1)f(z)) + \alpha_1(H_{\lambda+1,q,s}(\alpha_1)f(z)) \right]$$

$$= \left(1 - \frac{\alpha_2}{\alpha_1} \right) H_1(z) + \frac{\alpha_2}{\alpha_1} H_2(z), \quad H_1, H_2 \in P_k(\rho).$$

Since $P_k(\rho)$ is a convex set, see [12], we conclude that $f \in MT_k(\alpha_2, \lambda, q, s, \rho)$ for $z \in E$. Now by using Theorem 3.1 and the lines of proof of Theorem 3.6 we have the following Theorem.

Theorem 3.7. For $0 \le \alpha_2 < \alpha_1$, $MB_k(\alpha_1, \lambda, q, s, \rho) \subset MB_k(\alpha_2, \lambda, q, s, \rho)$.

Theorem 3.8. Let $f \in MT_k(\alpha, \lambda, q, s, \rho_3)$ and $g \in MT_k(\alpha, \lambda, q, s, \rho_4)$ and let F = f * g. Then $F \in MT_k(\alpha, \lambda, q, s, \rho_5)$, where

$$\rho_5 = 1 - 4(1 - \rho_3)(1 - \rho_4) \left[1 - \frac{\lambda}{\alpha} \int_0^1 \frac{u^{(\frac{\lambda}{(1-\alpha)})-1}}{1+u} du \right]. \tag{3.10}$$

This result is sharp.

Proof. Since $f \in MT_k(\alpha, \lambda, q, s, \rho_3)$, it follows that

$$S(z) = (1 - \alpha)z(H_{\lambda,q,s}(\alpha_1)f(z)) + \alpha z(H_{\lambda+1,q,s}(\alpha_1)f(z)) \in P_k(\rho_3),$$

and so using identity (1.8) in the above equation, we have

$$H_{\lambda,q,s}(\alpha_1)f(z) = \frac{\lambda}{(\alpha)} z^{-1-\frac{\lambda}{(\alpha)}} \int_0^z t^{\frac{\lambda}{(\alpha)}-1} S(t) dt.$$
 (3.11)

$$H_{\lambda,q,s}(\alpha_1)g(z) = \frac{\lambda}{(\alpha)} z^{-1-\frac{\lambda}{(\alpha)}} \int_0^z t^{\frac{\lambda}{(\alpha)}-1} S(t) dt.$$
 (3.12)

where $S^*(z) \in P_k(\rho_4)$.

Using (3.11) and (3.12), we have

$$H_{\lambda,q,s}(\alpha_1)F(z) = \frac{\lambda}{(\alpha)}z^{-1-\frac{\lambda}{(\alpha)}} \int_0^z t^{\frac{\lambda}{(\alpha)}-1}Q(t)dt, \qquad (3.13)$$

where

$$Q(z) = \left(\frac{k}{4} + \frac{1}{2}\right)q_1(z) - \left(\frac{k}{4} + \frac{1}{2}\right)q_2(z),$$

$$= \frac{\lambda}{(\alpha)}z^{-\frac{\lambda}{(\alpha)}} \int_0^z t^{\frac{\lambda}{(\alpha)} - 1} (S * S^*)(t)dt. \tag{3.14}$$

Now

$$S(z) = \left(\frac{k}{4} + \frac{1}{2}\right) s_1(z) - \left(\frac{k}{4} - \frac{1}{2}\right) s_2(z),$$

$$S^*(z) = \left(\frac{k}{4} + \frac{1}{3}\right) s_1^*(z) - \left(\frac{k}{4} - \frac{1}{2}\right) s_2^*(z),$$
(3.15)

where $s_i \in P(\rho_3)$ and $s_i^* \in P(\rho_4)$, i = 1, 2.

Since

$$P_i^*(z) = \frac{s_i^*(z) - \rho_4}{2(1 - \rho_4)} + \frac{1}{2} \in P(\frac{1}{2}), \quad i = 1, 2,$$

we obtain that $(s_i * p_i^*)(z) \in P(\rho_3)$, by using the Herglots formula. Thus

$$(s_i * s_i^*) \in P(\rho_5)$$

with

$$\rho_5 = 1 - 2(1 - \rho_3)(1 - \rho_4). \tag{3.16}$$

Using (3.13), (3.14), (3.15), (3.16) and Lemma 2.3, we have

$$\operatorname{Re} q_{i}(z) = \frac{\lambda}{(\alpha)} \int_{0}^{1} u^{\frac{\lambda}{(\alpha)} - 1} \operatorname{Re}\{(s_{i} * s_{i}^{*})(uz)\} du$$

$$\geq \frac{\lambda}{(\alpha)} \int_{0}^{1} u^{\frac{\lambda}{(\alpha)} - 1} \left(2\rho_{5} - 1 + \frac{2(1 - \rho_{5})}{1 + u|z|}\right) du$$

$$\geq \frac{\lambda}{(\alpha)} \int_{0}^{1} u^{\frac{\lambda}{(\alpha)} - 1} \left(2\rho_{5} - 1 + \frac{2(1 - \rho_{5})}{1 + u}\right) du$$

$$= 1 - 4(1 - \rho_3)(1 - \rho_4) \left[1 - \frac{\lambda}{(\alpha)} \int_0^1 \frac{u^{\frac{\lambda}{(\alpha)} - 1}}{1 + u} du \right].$$

From this we conclude that $F \in MT_k(\alpha, \lambda, q, s, \rho_5)$, where ρ_5 is given by (3.10). We discuss the sharpness as follows:

We take

$$S(z) = \left(\frac{k}{4} + \frac{1}{2}\right) \frac{1 + (1 - 2\rho_3)z}{1 - z} - \left(\frac{k}{4} - \frac{1}{2}\right) \frac{1 - (1 - 2\rho_3)z}{1 + z},$$

$$S^*(z) = \left(\frac{k}{4} + \frac{1}{2}\right) \frac{1 + (1 - 2\rho_4)z}{1 - z} - \left(\frac{k}{4} - \frac{1}{2}\right) \frac{1 - (1 - 2\rho_4)z}{1 + z},$$

Since

$$\left(\frac{1+(1-2\rho_3)z}{1-z}\right) * \left(\frac{1+(1-2\rho_4)z}{1-z}\right) = 1-4(1-\rho_3)(1-\rho_4) + \frac{4(1-\rho_3)(1-\rho_4)}{1-z},$$

it follows from (3.14) that

$$q_{i}(z) = \frac{\lambda}{(\alpha)} \int_{0}^{1} u^{\frac{\lambda}{(\alpha)} - 1} \left\{ 1 - 4(1 - \rho_{3})(1 - \rho_{4}) + \frac{4(1 - \rho_{3})(1 - \rho_{4})}{1 - z} \right\} du$$

$$\longrightarrow 1 - 4(1 - \rho_{3})(1 - \rho_{4}) \left\{ 1 - \frac{\lambda}{(\alpha)} \int_{0}^{1} \frac{u^{\frac{\lambda}{(\alpha)} - 1}}{1 + u} du \right\} \quad \text{as} \quad z \to -1.$$

This completes the proof.

Acknowledgment

We would like to thank Dr. S. M. Junaid Zaidi, Rector CIIT for providing us excellent research facilities.

References

- 1. J. H. Choi, M. Saigo and H. M. Srivastava, Some inclusion properties of a certain family of integral operators, *J. Math. Anal. Appl.*, **276**(2002), 432-445.
- 2. J. Dziok and H. M. Srivastava, Classes of analytic functions associated with the generalized hypergeometric function, *Appl. Math. Comput.*, **103**(1999), 1-13.
 - 3. J. Dziok and H. M. Srivastava, Some subclasses of analytic functions with fixed

argument of coefficients associated with the generalized hypergeometric functions, Adv. $Stud.\ Contemp.\ Math.,\ 5(2002),\ 115-125.$

- 4. J. Dziok and H. M. Srivastava, Certain subclasses of analytic functions associated with the generalized hypergeometric function, *Integral Trans. Spec. Funct.*, **14**(2003), 7-18.
- 5. J. L. Liu, The Noor integral and strongly starlike functions, *J. Math. Anal. Appl.*, **261**(2001), 441-447.
- 6. J. L. Liu and H. M. Srivastava, A linear operator and associated families of meromorphically multivalent functions, *J. Math. Appl.*, **259**(2001), 566-581.
- 7. J. L. Liu and H. M. Srivastava, Certain properties of the Dzoik Srivastava operator, *Appl. Math. Comput.*, **159**(2004), 485-493.
- 8. J. L. Liu and H. M. Srivastava, Classes of meromorphically multivalent functions associated with the generalized hypergeormetric function, *Math. Comut. Modell.*, **39**(2004), 21-34.
- 9. T. H. MacGregor, Radius of univalence of certain analytic functions, *Proc. Amer. Math. Soc.*, **14**(1963), 514-520.
 - 10. K. I. Noor, On new classes of integral operators, J. Natur. Geom., 16(1999), 71-80.
- 11. K. I. Noor and M. A. Noor, On integral operators, *J. Math. Anal. Appl.*, **238** (1999), 341-352.
- 12. K. I. Noor, On subclasses of close-to-convex functions of higher order, *Internat. J. Math. and Math Sci.*, **15**(1992), 279-290.
- 13. S. Owa and H. M. Srivastava, univalent and starlike generalized hypergeometric functions, *Canad. J. Math.*, **39**(1987), 1057-1077.
- 14. D. Ž. Pashkouleva, The starlikeness and spiral-convexity of certain subclasses of analytic functions, in: H. M. Srivastava and S. Owa (Editors), Current Topics in Analytic Function Theory, pp. 266-273, World Scientific publishing Company, Singapore, New Jersey, London and Hong Kong, 1992.
- 15. B. Pinchuk, Functions with bounded boundary rotation, Isr. J. Math., ${\bf 10}(1971)$, 7-16.
- 16. K. S. Padmanabhan and R. Parvatham, properties of a class of functions with bounded boundary rotation, *Ann. Polan. Math.*, **31**(1975), 311-323.
- 17. S. Ponnusamy, Differential subordination and Bazilevic functions, $Proc.\ Ind.\ Acad.\ Sci.,\ {\bf 105} (1995),\ 169-186.$
- 18. H. M. Srivastava and S. Owa, Some characterization and distortion theorems involving fractional calculus, generalized hypergeometric functions, Hadamard products, linear operators, and certain subclasses of analytic functions, *Nagoya Math. J.*, **106**(1987), 1-28.
- 19. R. Singh and S. Singh, Convolution properties of a class of starlike functions, *Proc. Amer. Math. Soc.*, **106**(1989), 145-152.

 $\label{lem:matter} \mbox{Mathematics Department, COMSATS Institute of Information Technology, H-8/1 Islam-abad, Pakistan.}$

 $\hbox{E-mail: khalidanoor@hotmail.com}$

Department of Basic Sciences University of Engineering and Technology Peshawar Pak-

istan.

E-mail: ali7887@gmail.com